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FUNCA L FE 10 Kg 2,160 — 1,944|&DFWVE L FE 5 Kg 1,728 — 1,620
MA LL BE 13 151 — 140[[F L& L dtiEE 10 Kg 2,160 — 1,944
M 3L FzE 13 173 — 130[[E L& L BRE 10 Kg 2,808 — 2,700
IZALA M = 10 Kg 3,780 — 3564|A—H4> L IR 10 Kg — 3,780 -
ESHY 5 4 Kg 1,188 756 324|ELVE LL H7 10 Kg 4,104 3,780 3,024
17O L f2 10 Kg 4,860 — 4320(f=FHhEF L dtiEE 20 Kg 3,240 — 2,808
(<Y 4F BRIk 12 Kg 1,944 — 1,728|1=FHE L =1 10 Kg 2,808 — 2,700
KE = 150 g 86 - 76|£LLM=1T AM =81 100 g 162 — 140
INAEE =877 250 g 97 97 65|48 S =81 100 g 54 — 49
FpRY L FE 10 Kg 1,404 — 1,296|ZDE = 200 g 70 — 65
FoRY L riE=J| 10 Kg — 1,728 - |ZADE s 200 g 70 — 65
FoRY L 250 10 Kg — 2,160 —  |AELSL =877 100 g — 76 -
F5NAE M = 200 g 130 130 543800 AM B5F 10 Kg 2,808 — 2,700
INQE =807 100 g 119 108 76
RR&E L = 5 Kg 2,160 — 1,944
EhE M BRI 5 Kg 3,024 — 2,700
58 LL =877 2 Kg 2,376 — 2,160
58 LL N H 2 Kg 2,376 — 2,160
2HDIE M =571 100 g 108 — 86
LpAEC M =5 150 g 140 97 65
(2 L =BE 100 g 76 — 59
)L LL Rk 10 Kg — 4,104 —
FRINGHR L 1z 100 g 194 — 173
LAR L /3177 10 Kg 3,024 2,700 2,376
LARX L E 10 Kg 3,240 2,700 2,376
FUT YA =47 250 g 108 108 65
DEL = 250 g 97 97 54
EpOY S =571 5 Kg 2,160 — 1,944
Y9 M =0 5 Kg 2,484 — 2,160
rh M =87 4 Kg 1,620 — 1,404
F<b M RER 4 Kg 1,944 1,944 1,728
SRR M BEAN 3 Kg 2,484 — 2,376
F—<> M =0 150 g 119 — 108
IPZAES A 2450 2 Kg — 4,752 —
=DFEWNE L R 5 Kg 1,728 — 1,620
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BMAR—TIL 88F FAUH 17 Kg — 9,180 — FRLIRTEHE 1 t B
LEY 140E T AYH 17 Kg — 9,720 — FoTUHA 1~2815
Faky 20E BER 5 Kg — 4,860 — =7 L 1~2% %
H30LoC =814 250 g — 400 —
EEHLVH mAR 260 g — 400 -
EBEEED = 250 g — 400 —
ArAAOY LA RI 5 Kg — 5,184 —
e Y RER 15 Kg — 6,480 -
ERAVAES BEAR 15 Kg — 4,860 —
INFF J4)E> 13 Kg — 3,456 —
NA2T7vTIL 5F T4JEY 10 Kg — 2,376 -
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